Sr

10

1"

Questions

a0 e 08 (e i) e,

o e Slaliy 38K o S Sl

o G S o S e i,

0 (S S S Oy e o (S (s S,

S ende w S G pul S e 0,

s S S G oal a

Gt 80l b o 1S g (S D S

e WSS,

=S & S s, il s o5 1S S a2,

0 S oy S3R Gaseata (e g5l S JiS s A5

= e S (S (g m LS,

U5as 6500 L 62 s s (S (oS (S D S e 06T 2y S 00 M,

Answers Choice

A, sl
oSl e
BENS

e
= O‘JJ&E
. P

P =]
= ‘513“!‘ sl
oSl
usist @ s

L L
[ el

o) ol
s (s
REY
.= el
. 3 el
L
[l
S oS
Y
papedd
. s8dss

LS S

?Ji ):..\3\

JSd

G

I A K s b
0SS pa
=S S s £

G plad

US S
OS Gsosl
S (e
U (5S-
LS

u»l-mL L
s85dss
RS

O
gl (s il
Oalaal 5

S
L

Jus s 8
?JS )33‘

> DO®Wr DOWFr DO®WF U0DP» DOUP DO@r U0®P» UOWF DOWF 00®mF 00D

D. usiss @ sl



